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SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions

1. Describe the condition for good industrial relations.
2. Define Trade Union.
3    List few problems of Indian Trade Unions.
4. 
What are the unique features of  ILO?
5.   Who are all the parties involved in IR system?
6.   Define Strike.
      7.   Write short notes on quasi administrative machinery. 
8.   Define Social Security.
      9.   List out the three kinds of Mediators.
10. What is Adjudication ?
11.  Differentiate Social Insurance and Social Assistance.
12.  Explain the concept of Indebtedness.

SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions

13. Discuss fully the conditions precedent to retrenchment of a workman as provided in the Industrial Disputes Act.
14. Explain the two important constituents of tripartite consultative machinery.
15. Describe the main features of Trade Union and Labour relations Act.
16. Define collective bargaining and bring out its importance for workers, management and economy.
17. Explain the concept of workers participation in management and its benefits.
18. Explain the Objectives  of Social Security.
19. How to deal with the victims of Alcoholism in the industrial relations ?
  


SECTION C – (3 × 10 = 30 marks)

PART – A – Case Study – Compulsory Question 

    20. Compulsory Question – (case study)
                                         (1X10=10 Marks) 
 
In an engineering factory established in 1945 near Delhi,  the employer and the 
only 
recognized trade union ‘A’ functioning since the inception of the factory have been 
working hard to ensure a high level of productivity and profitability of the enterprise and 
also a satisfactory level of standard of living for the workers. They have been entering into 
collective agreements on matters of mutual interests including the terms and conditions of 
employment of workers. In 1950, two more trade unions ‘B’ and ‘C’ led by outsiders also 
came to be formed in the factory. These two new union started placing exorbitant demands 
before the management and organized demonstrations and strikes by a section of workers
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at intervals leading to impairment of the smooth functioning of the enterprise. The 

management then approached the Labour Department with a request to intervene. 

The Labour Department declared the strikes organized by the two new unions 
illegal and convened a meeting of the parties with a view to providing solution to the 
disturbed industrial relations in the enterprise. Union ‘B’ and ‘C’ did not participate in the 
meeting. The government then referred the issue before a tribunal which recognized the 
status of union ‘A’ as the sole bargaining agent and debarred unions ‘B’ and ‘C’ from any 
activity in the enterprise.

Questions

 1. What elements of industrial relations exist in the enterprise ?
 2. Which are the parties involved in the industrial relations of the enterprise ?
 3. How have the rules governing the terms and conditions of employment of workers           been formed in the enterprise ?
4. How will you identify the role of the government in the industrial relations of the enter  prise? 
PART – B
Answer any TWO questions

21. What are the effects of poor Industrial relations?Give your suggestions to improve  the
 legislation concerning industrial relations in our country. 
     22.  Explain the concept  of ILO and the fundamental principles of the ILO .
     23.  Explain the Functions of labour welfare and the Role of labour welfare officer. 
     24.  Explain the social problems affecting the Industrial Labour 
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